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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any five questions.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper. .
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Answer the following questions:

(2) Explam the concepts of producer surplus and
consumer surplus. Con51der a market for apples.
Suppose the supply of apples rises. What happens
t6 consumer and producer surplus at the new

equilibrium in the market for apples? ©)

(b) What is Price Ceiling? Does a price celhng fixed
by the government always change the market

outcome? Give reasons for your answer. %)
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2. Answer the following questi'ons'-:

(a) Rahul is consummg two goods X and Y. H1s 1ncome
is Rs. IOO Pr1ce of Good. X is Rs 10 and ‘the

price of Good Y is Rs. 10. | )

- (i) Given the above information, draw the

budget line for Rahul.

(ii) Suppose the price of Goodl X. decreases to

"Rs. 5. How will the budget line for Rahul

change?

(iii) Instead of a decrease in the pr.icé of Good .
X, Rahul’s income increases to Rs. 200.

How will the budget line for Rahul cha,ngé, .

in comparison to Part (i)?
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(b) What is ‘an indifference curve? Explain the

properties of indifference curves. (9)
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3y Answer the following questions

(a) Whenever interest rates on -savings increase,
‘houscholds tend to save miore. Is this statement
true or false? Explain with the help of income and

substitution effects. : 9

(b) It is observed that at the 'e%;isting equilibrium in
the market, demand is highly inelastic while 't}'le
supply is highly ‘elastic. If the bu'yers have to pay
a tax of Rs. T for each unit they buy, who will

bear the higher burden .of tax: buyer or seller?

Explain why. AT )
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4. Answer the following questions :

(2) What is a Pfoduction Possibility Curve (PPC)?
~ Explain why under the usual assumptions, PPC is
bowed outward (coricave to the origin). What will

be the shape of the PPC if the opportunity cost of

Good Y in terms of Good X is constant? 9)

(b) What will be the shape of indifference curve if

the two goods are : : 9
(i) Perfect Substitutes
(if) Perfect Complements

(iii) One good is economic good, other IS

economic bad .
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5. Answer the folloWing questions :

(a) Differentiate between economies of scale and

economies of scope, ' (9)
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(b) Ilustrate and explain the concept of Law of
~ Variable Proportions. In this context, differentiate
between increasing returns to a factor, constant

returns to a factor and decreasing returns to g

factor? 3 (9)
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6. Answer the following questions :

(a) Differentiate between explicit cost and implicit cost
of a firm with the help of an example. In this
context, explain the difference between economic

profits and accounting profits. (9
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(b) Define perfect competition. What are its main

characteristics? (9)
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7. ‘Answer the following questions :

(a) Differentiate between shut down point and exit

‘noint of a firm in a perfectly competitive market.

(9)

(b) Consider a'firm in a perfectl); competitive market
for sugar. The market price for sugar is Rs. 24
per kg, The marginal cost function for this firm is
given by: M"('f*# 3 + 7Q. Calculate the quantity of

sugar that this firm will be selling in the market at

P.T.O.
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equilibrium, - What will be the total revenue,
marginal revenuc and average revenue for the

firm? o | (9)
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8. ~ Answer the following questions :

(a) Consider a firm producing output (Y) using labour
(L) and capital (K) in a perfectly competitive
market. In each of the following production

functions, determine whether the firm is facing
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erensing roturng 1o genle or decreasing returns

(o senle or constint returns (o seale,

Y = LK

(i) Y = VLK 9)

(b) In continuation of Part (a), if suppose the firm is
producing 100 units of output Write the equation

of isoquant for the two production functions given

in Part (a). (9)
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